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French

- GCE Mark Scheme 2008 June series

Unit 2
% of AS Marks
AO2 Response to written language 10 18
AO3 Knowledge of grammar 5 9
AO4 Knowledge of society 15 27
TOTAL 30 54

Annotation of Scripts

The following conventions will be used by examiners marking scripts:

AO2
(Reaction and Response)

AO4
(Content)

®  written in the margin to indicate
reaction/response relevant to AO2
where this includes
reason/justification of opinion.

© written in the margin to indicate

information relevant to AO4, derived
from a source other than the current
Preliminary Material and relevant to
the question set.

R  written in the margin to indicate
reaction/response relevant to AO2
when no justification is given.

written in the margin to indicate
information relevant to AO4, derived
from the Preliminary Material and
relevant to the question set.

written in the margin to indicate
information generally relevant to the
topic.

Rep written in the margin to indicate repetition of information relevant to AO4 or AO2.

Irr  vertical line in the margin = irrelevant/inappropriate material.

The mark for AO4, AO2 and AO3 respectively written at the foot of an answer accompanied by a word or

phrase quoted from the criteria for assessment as published in the specification.
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Question 1a

Décrivez les influences sur les Francais de deux des médias en France. Trouvez-vous ces influences
bonnes ou mauvaises pour les Frangais?

C= AO4 content from PM R= | good AO2 point | T = | information about the topic
©= AO4 content not from ® = | justified AO2 point
PM
Rep = | repeated point Irr = | irrelevant/incorrect material + vertical line in margin
A02 | Reaction/response Ampilification
(These marks are awarded based on the
extent to which the candidate answers the
question set)
15- | The answer is clearly focused on the Descriptions of a number of influences of the
18 question and displays a logical and chosen media with a firm personal conclusion.
coherent personal reaction to the question
which is well justified by clearly stated
opinions.
11- | There is clear evidence of personal A similar approach but a less-coherent
14 reaction to the question, but this is not argument focussing on a narrower range of
consistently maintained. There is some influences.
justification, but the consistency of the
opinions is variable.
clearly organised. Some personal reaction | Weaker personal judgement.
to the question is evident, but justification
is weak.
3-6 | This is a limited personal reaction to the | One media only described with a weak or no
question, but no justification for points personal conclusion.
made.
1-2 | There is virtually no personal reaction to
the question, but there is a little reaction
to the topic.
0 There is no evidence of any personal
reaction/response.
AO3 | Knowledge of Grammar
(These marks are awarded based on the degree to which the candidate uses structures and
grammar as outlined in the specification)
8-9 | The manipulation of most structures is good. There are still some inaccuracies, but these
tend to occur in attempts at more complex structures.
6-7 | The manipulation of basic structures is generally sound. There are attempts to use more
complex structures, often successfully.
4-5 | There is some awareness of structure but basic errors are still frequent. Communication is
generally maintained.
2-3 | The level of manipulation of structures and the number of errors make comprehension
difficult.
0-1

Shows little or no grasp of grammatical structure. Errors are such that communication is

seriously impaired.
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A04

Content /Knowledge of Society
(These marks are awarded based on
the quality of the evidence that the
candidate uses to support the
argument in AO2)

Ampilification

23-27

The answer is well illustrated with
descriptions which are logically and
coherently developed and do not
depend exclusively on the preliminary
material. Relevant points are clearly
stated and there is definite evidence of
reading around the topic, including
good use of topic-specific vocabulary.
The quality of the evidence and
understanding of the topic are very
good.

17-22

The answer makes a number of points
relevant to specific issues. It shows
some independence from, or clear
manipulation of, the preliminary
material and makes use of topic-
specific vocabulary. The quality of the
evidence and understanding of the
topic are good.

11-16

The answer relies heavily on the
preliminary material, but there is an
attempt made to manipulate this
material and to use some topic-specific
vocabulary. The quality of the
evidence and understanding of the
topic are sufficient.

5-10

The answer relies almost exclusively
on the preliminary material. The quality
of evidence and understanding of the
topic are limited.

1-4

The answer includes very little factual
evidence. The quality of the evidence
and understanding of the topic are
poor.

There is absolutely nothing of
relevance either to the topic area or to
the question set. A zero score will
automatically result in zero for the
question as a whole.

e News/current affairs broadcasting

Reality television/Entertainment/Demise of
live culture

Advertising

Public information

Educational/cultural broadcasting

Internet gaming/obesity

Communications (mobile phones)

French film industry.
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Question 1b

« La radio et la presse écrite ne jouent plus un réle important dans la vie frangaise. » Que pensez-vous
de cette opinion? Utilisez des exemples tirés de vos études.

C= AO4 content from PM R= | good AO2 point | T = | information about the topic
©= AO4 content not from ® = | justified AO2 point

PM
Rep = | repeated point Irr = | irrelevant/incorrect material + vertical line in margin
A02 | Reaction/response Ampilification

(These marks are awarded based on the
extent to which the candidate answers the
question set)

15- | The answer is clearly focused on the Discussion of the decline/continued

18 question and displays a logical and significance of the two media with a clear
coherent personal reaction to the question | personal view expressed.

which is well justified by clearly stated

opinions.
11- | There is clear evidence of personal Focussed as above but with a weaker
14 reaction to the question, but this is not personal opinion.

consistently maintained. There is some
justification, but the consistency of the
opinions is variable.

7-10 | The answer lacks focus and ideas are not | Pérhaps one media only and a drift away from
clearly organised. Some personal reaction | importance’. Little in the way of personal

to the question is evident, but justification | OPINION.

is weak.

3-6 | This is a limited personal reaction to the | Merely superficial descriptions of French
question, but no justification for points Radio and Press.
made.

1-2 | There is virtually no personal reaction to
the question, but there is a little reaction
to the topic.

0 There is no evidence of any personal
reaction/response.

AO3 | Knowledge of Grammar
(These marks are awarded based on the degree to which the candidate uses structures
and grammar as outlined in the specification)

8-9 | The manipulation of most structures is good. There are still some inaccuracies, but these
tend to occur in attempts at more complex structures.

6-7 | The manipulation of basic structures is generally sound. There are attempts to use more
complex structures, often successfully.

4-5 | There is some awareness of structure but basic errors are still frequent. Communication is
generally maintained.

2-3 | The level of manipulation of structures and the number of errors make comprehension
difficult.

0-1 | Shows little or no grasp of grammatical structure. Errors are such that communication is
seriously impaired.
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A04 Content /Knowledge of Society Ampilification
(These marks are awarded based on
the quality of the evidence that the
candidate uses to support the

argument in AO2)
23-27 | The answer is well illustrated with e Circulation statistics
descriptions which are logically and e Rise/restricted use of the internet
coherently developed and do not e Popularity/advantages of TV as an
depend exclusively on the preliminary entertainment form
material. Relevant points are clearly e Costs
stated and there is definite evidence of | ,  Regional Press
reading around the topic, including ° Cable/satelllte/dlgltal TV.

good use of topic-specific vocabulary.
The quality of the evidence and
understanding of the topic are very
good.

17-22 | The answer makes a number of points
relevant to specific issues. It shows
some independence from, or clear
manipulation of, the preliminary
material and makes use of topic-
specific vocabulary. The quality of the
evidence and understanding of the
topic are good.

11-16 | The answer relies heavily on the
preliminary material, but there is an
attempt made to manipulate this
material and to use some topic-specific
vocabulary. The quality of the
evidence and understanding of the
topic are sufficient.

5-10 | The answer relies almost exclusively
on the preliminary material. The quality
of evidence and understanding of the
topic are limited.

1-4 | The answer includes very little factual
evidence. The quality of the evidence
and understanding of the topic are
poor.

0 There is absolutely nothing of
relevance either to the topic area or to
the question set. A zero score will
automatically result in zero for the
question as a whole.
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Question 2a

Décrivez ce que la France fait pour protéger son environnement. A votre avis, est-ce que les Frangais
font assez?

C= AO4 content from PM R= | good AO2 point | T = | information about the topic
©= AO4 content not from ® = | justified AO2 point

PM
Rep = | repeated point Irr = | irrelevant/incorrect material + vertical line in margin
A02 | Reaction/response Ampilification

(These marks are awarded based on the
extent to which the candidate answers the
question set)

15- | The answer is clearly focused on the Good description of a number of

18 question and displays a logical and environmental initiatives plus a reasoned
coherent personal reaction to the question | personal judgement as to whether or not
which is well justified by clearly stated these are adequate.
opinions.

11- | There is clear evidence of personal One of the elements above less well tackled.

14 reaction to the question, but this is not
consistently maintained. There is some
justification, but the consistency of the
opinions is variable.

7-10 | The answer lacks focus and ideas are not | One of the elements above totally ignored in

clearly organised. Some personal reaction | the response.
to the question is evident, but justification
is weak.

3-6 | This is a limited personal reaction to the | Descriptions of pollution in France.
question, but no justification for points
made.

1-2 | There is virtually no personal reaction to
the question, but there is a little reaction
to the topic.

0 There is no evidence of any personal
reaction/response.

AO3 | Knowledge of Grammar
(These marks are awarded based on the degree to which the candidate uses structures
and grammar as outlined in the specification)

8-9 | The manipulation of most structures is good. There are still some inaccuracies, but these
tend to occur in attempts at more complex structures.

6-7 | The manipulation of basic structures is generally sound. There are attempts to use more
complex structures, often successfully.

4-5 | There is some awareness of structure but basic errors are still frequent. Communication is
generally maintained.

2-3 | The level of manipulation of structures and the number of errors make comprehension
difficult.

0-1 | Shows little or no grasp of grammatical structure. Errors are such that communication is
seriously impaired.
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A04

Content /Knowledge of Society
(These marks are awarded based on
the quality of the evidence that the
candidate uses to support the
argument in AO2)

Ampilification

23-27

The answer is well illustrated with
descriptions which are logically and
coherently developed and do not
depend exclusively on the preliminary
material. Relevant points are clearly
stated and there is definite evidence of
reading around the topic, including
good use of topic-specific vocabulary.
The quality of the evidence and
understanding of the topic are very
good.

17-22

The answer makes a number of points
relevant to specific issues. It shows
some independence from, or clear
manipulation of, the preliminary
material and makes use of topic-
specific vocabulary. The quality of the
evidence and understanding of the
topic are good.

11-16

The answer relies heavily on the
preliminary material, but there is an
attempt made to manipulate this
material and to use some topic-specific
vocabulary. The quality of the
evidence and understanding of the
topic are sufficient.

The answer relies almost exclusively
on the preliminary material. The quality
of evidence and understanding of the
topic are limited.

14

The answer includes very little factual
evidence. The quality of the evidence
and understanding of the topic are
poor.

There is absolutely nothing of
relevance either to the topic area or to
the question set. A zero score will
automatically result in zero for the
question as a whole.

e Air pollution/traffic reduction measures

e Marine pollution legislation

e Domestic/industrial waste
disposal/recycling

e Green energy

e Environmental pressure-groups.
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Question 2b

Décrivez comment la France réagit aux problémes de I’énergie et de la pollution qu’elle cause. A votre
avis est-ce que les mesures prises sont bonnes ou mauvaises?

C= AO4 content from PM R= | good AO2 point | T = | information about the topic
©= AO4 content not from ® = | justified AO2 point

PM
Rep = | repeated point Irr = | irrelevant/incorrect material + vertical line in margin
A02 | Reaction/response Ampilification

(These marks are awarded based on the
extent to which the candidate answers the
question set)

15- | The answer is clearly focused on the A range of different measure/initiatives

18 question and displays a logical and described. Clear judgement on France’s
coherent personal reaction to the question | efforts to protect the environment via energy
which is well justified by clearly stated policy.
opinions.

11- | There is clear evidence of personal Some measures described but less aware of

14 reaction to the question, but this is not effectiveness of measures taken.

consistently maintained. There is some
justification, but the consistency of the
opinions is variable.

7-10 | The answer lacks focus and ideas are not | Very much a list of measures without

clearly organised. Some personal reaction | understanding effectiveness/weak judgement.
to the question is evident, but justification
is weak.

3-6 | This is a limited personal reaction to the
question, but no justification for points
made.

1-2 | There is virtually no personal reaction to

the question, but there is a little reaction
to the topic.

0 There is no evidence of any personal
reaction/response.

AO3 | Knowledge of Grammar
(These marks are awarded based on the degree to which the candidate uses structures
and grammar as outlined in the specification)

8-9 | The manipulation of most structures is good. There are still some inaccuracies, but these
tend to occur in attempts at more complex structures.

6-7 | The manipulation of basic structures is generally sound. There are attempts to use more
complex structures, often successfully.

4-5 | There is some awareness of structure but basic errors are still frequent. Communication is
generally maintained.

2-3 | The level of manipulation of structures and the number of errors make comprehension
difficult.

0-1 | Shows little or no grasp of grammatical structure. Errors are such that communication is
seriously impaired.

10 www.theallpapers.com


http://www.xtremepapers.net

French - GCE Mark Scheme 2008 June series

A04 Content /Knowledge of Society Ampilification
(These marks are awarded based on
the quality of the evidence that the
candidate uses to support the

argument in AO2)
23-27 | The answer is well illustrated with e Renewable energy
descriptions which are logically and initiatives/developments
coherently developed and do not ¢ Role of voluntary and governmental
depend exclusively on the preliminary organisations
material. Relevant points are clearly e Transport issues

stated and there is definite evidence of | ¢ The nuclear debate.
reading around the topic, including
good use of topic-specific vocabulary.
The quality of the evidence and
understanding of the topic are very
good.

17-22 | The answer makes a number of points
relevant to specific issues. It shows
some independence from, or clear
manipulation of, the preliminary
material and makes use of topic-
specific vocabulary. The quality of the
evidence and understanding of the
topic are good.

11-16 | The answer relies heavily on the
preliminary material, but there is an
attempt made to manipulate this
material and to use some topic-specific
vocabulary. The quality of the
evidence and understanding of the
topic are sufficient.

5-10 | The answer relies almost exclusively
on the preliminary material. The quality
of evidence and understanding of the
topic are limited.

1-4 The answer includes very little factual
evidence. The quality of the evidence
and understanding of the topic are
poor.

0 There is absolutely nothing of
relevance either to the topic area or to
the question set. A zero score will
automatically result in zero for the
question as a whole.
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Question 3a

Expliquez la présence de tant d’immigrés en France. Pensez-vous que la France profite de leur
présence dans tous les cas, ou est-ce qu’il y a des désavantages aussi?

C= AO4 content from PM R= | good AO2 point | T = | information about the topic
©= AO4 content not from ® = | justified AO2 point

PM
Rep = | repeated point Irr = | irrelevant/incorrect material + vertical line in margin
A02 | Reaction/response Ampilification

(These marks are awarded based on the
extent to which the candidate answers the
question set)

15- | The answer is clearly focused on the Clear understanding of the history of

18 question and displays a logical and immigration plus judgement, with reasons, on
coherent personal reaction to the question | its positive and negative effects.

which is well justified by clearly stated

opinions.
11- | There is clear evidence of personal Still focussed on the above but with less
14 reaction to the question, but this is not detail.

consistently maintained. There is some
justification, but the consistency of the
opinions is variable.

7-10 | The answer lacks focus and ideas are not | Notion of contribution/disadvantages less well

clearly organised. Some personal reaction | @nalysed.
to the question is evident, but justification

is weak.

3-6 | This is a limited personal reaction to the | Poor understanding of the effects of
question, but no justification for points immigration.
made.

1-2 | There is virtually no personal reaction to
the question, but there is a little reaction
to the topic.

0 There is no evidence of any personal
reaction/response.

AO3 | Knowledge of Grammar
(These marks are awarded based on the degree to which the candidate uses structures
and grammar as outlined in the specification)

8-9 | The manipulation of most structures is good. There are still some inaccuracies, but these
tend to occur in attempts at more complex structures.

6-7 | The manipulation of basic structures is generally sound. There are attempts to use more
complex structures, often successfully.

4-5 | There is some awareness of structure but basic errors are still frequent. Communication is
generally maintained.

2-3 | The level of manipulation of structures and the number of errors make comprehension
difficult.

0-1 | Shows little or no grasp of grammatical structure. Errors are such that communication is
seriously impaired.
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A04

Content /Knowledge of Society
(These marks are awarded based on
the quality of the evidence that the
candidate uses to support the
argument in AO2)

Ampilification

23-27

The answer is well illustrated with
descriptions which are logically and
coherently developed and do not
depend exclusively on the preliminary
material. Relevant points are clearly
stated and there is definite evidence of
reading around the topic, including
good use of topic-specific vocabulary.
The quality of the evidence and
understanding of the topic are very
good.

17-22

The answer makes a number of points
relevant to specific issues. It shows
some independence from, or clear
manipulation of, the preliminary
material and makes use of topic-
specific vocabulary. The quality of the
evidence and understanding of the
topic are good.

11-16

The answer relies heavily on the
preliminary material, but there is an
attempt made to manipulate this
material and to use some topic-specific
vocabulary. The quality of the
evidence and understanding of the
topic are sufficient.

5-10

The answer relies almost exclusively
on the preliminary material. The quality
of evidence and understanding of the
topic are limited.

1-4

The answer includes very little factual
evidence. The quality of the evidence
and understanding of the topic are
poor.

There is absolutely nothing of
relevance either to the topic area or to
the question set. A zero score will
automatically result in zero for the
question as a whole.

e Economic/world of work benefits

e Cultural contributions (music, sport,
broadcasting)

e Political responses

e Scapegoat issue

e European/non-European Immigration-
differences?

e ‘Waves’ of immigration plus reasons.
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Question 3b

A votre avis est-ce que les différents groupes ethniques en France s’entendent bien? lllustrez votre
réponse avec des exemples tirés de vos études.

C= AO4 content from PM R= | good AO2 point | T = | information about the topic
©= AO4 content not from ® = | justified AO2 point

PM
Rep = | repeated point Irr = | irrelevant/incorrect material + vertical line in margin
A02 | Reaction/response Ampilification

(These marks are awarded based on the
extent to which the candidate answers the
question set)

15- | The answer is clearly focused on the Cogent analysis of the successes and failures
18 question and displays a logical and of integration with a firm personal conclusion.
coherent personal reaction to the question
which is well justified by clearly stated

opinions.
11- | There is clear evidence of personal Perhaps an unbalanced response with a
14 reaction to the question, but this is not narrower range of points.

consistently maintained. There is some
justification, but the consistency of the
opinions is variable.

7-10 | The answer lacks focus and ideas are not | Success’ (or lack of it) is ‘lost’ in the range of
clearly organised. Some personal reaction | €xamples offered.

to the question is evident, but justification
is weak.

3-6 | This is a limited personal reaction to the
question, but no justification for points
made.

1-2 | There is virtually no personal reaction to
the question, but there is a little reaction
to the topic.

0 There is no evidence of any personal
reaction/response.

AO3 | Knowledge of Grammar
(These marks are awarded based on the degree to which the candidate uses structures
and grammar as outlined in the specification)

8-9 | The manipulation of most structures is good. There are still some inaccuracies, but these
tend to occur in attempts at more complex structures.

6-7 | The manipulation of basic structures is generally sound. There are attempts to use more
complex structures, often successfully.

4-5 | There is some awareness of structure but basic errors are still frequent. Communication is
generally maintained.

2-3 | The level of manipulation of structures and the number of errors make comprehension
difficult.

0-1 | Shows little or no grasp of grammatical structure. Errors are such that communication is
seriously impaired.
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A04

Content /Knowledge of Society
(These marks are awarded based on
the quality of the evidence that the
candidate uses to support the
argument in AO2)

Ampilification

23-27

The answer is well illustrated with
descriptions which are logically and
coherently developed and do not
depend exclusively on the preliminary
material. Relevant points are clearly
stated and there is definite evidence of
reading around the topic, including
good use of topic-specific vocabulary.
The quality of the evidence and
understanding of the topic are very
good.

17-22

The answer makes a number of points
relevant to specific issues. It shows
some independence from, or clear
manipulation of, the preliminary
material and makes use of topic-
specific vocabulary. The quality of the
evidence and understanding of the
topic are good.

11-16

The answer relies heavily on the
preliminary material, but there is an
attempt made to manipulate this
material and to use some topic-specific
vocabulary. The quality of the
evidence and understanding of the
topic are sufficient.

5-10

The answer relies almost exclusively
on the preliminary material. The quality
of evidence and understanding of the
topic are limited.

1-4

The answer includes very little factual
evidence. The quality of the evidence
and understanding of the topic are
poor.

There is absolutely nothing of
relevance either to the topic area or to
the question set. A zero score will
automatically result in zero for the
question as a whole.

e Laicity issues

The ‘Two Frances’ in the World of Work
and Education

Cultural ‘brassage’ examples

Dual culture pressures

Political aspects (FN)

Riots

Housing conditions/ghettos
Organisations (SOS Racisme)
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Question 4a

Décrivez les avantages et les problemes posés par 'Europe pour la France. A votre avis est-ce que
l'attitude des Francais envers I'Europe est positive?

C= AO4 content from PM R= [ good AO2 point | T = | information about the topic
©= AO4 content not from ® = | justified AO2 point

PM
Rep = | repeated point Irr = | irrelevant/incorrect material + vertical line in margin
A02 | Reaction/response Ampilification

(These marks are awarded based on the
extent to which the candidate answers the
question set)

15- | The answer is clearly focused on the A good ‘balance-sheet’ plus a judgement of
18 question and displays a logical and French attitudes.

coherent personal reaction to the question
which is well justified by clearly stated

opinions.
11- | There is clear evidence of personal A less convincing judgement based on a
14 reaction to the question, but this is not narrower range of examples.

consistently maintained. There is some
justification, but the consistency of the
opinions is variable.

7-10 | The answer lacks focus and ideas are not | Generalisations of pro/anti European views.

clearly organised. Some personal reaction
to the question is evident, but justification
is weak.

3-6 | This is a limited personal reaction to the
question, but no justification for points
made.

1-2 | There is virtually no personal reaction to
the question, but there is a little reaction
to the topic.

0 There is no evidence of any personal
reaction/response.

AO3 | Knowledge of Grammar

(These marks are awarded based on the degree to which the candidate uses structures
and grammar as outlined in the specification)

8-9 | The manipulation of most structures is good. There are still some inaccuracies, but these
tend to occur in attempts at more complex structures.

6-7 | The manipulation of basic structures is generally sound. There are attempts to use more
complex structures, often successfully.

4-5 | There is some awareness of structure but basic errors are still frequent. Communication is
generally maintained.

2-3 | The level of manipulation of structures and the number of errors make comprehension
difficult.

0-1 | Shows little or no grasp of grammatical structure. Errors are such that communication is
seriously impaired.
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A04 Content /Knowledge of Society Ampilification
(These marks are awarded based on
the quality of the evidence that the
candidate uses to support the
argument in AO2)

23-27 | The answer is well illustrated with PAC
descriptions which are logically and Enlargement/Turkey
coherently developed and do not The Euro

depend exclusively on the preliminary
material. Relevant points are clearly
stated and there is definite evidence of
reading around the topic, including
good use of topic-specific vocabulary.
The quality of the evidence and
understanding of the topic are very
good.

Business/Agriculture lobbies
Referendum results
Work/travel/educational opportunities.

17-22 | The answer makes a number of points
relevant to specific issues. It shows
some independence from, or clear
manipulation of, the preliminary
material and makes use of topic-
specific vocabulary. The quality of the
evidence and understanding of the
topic are good.

11-16 | The answer relies heavily on the
preliminary material, but there is an
attempt made to manipulate this
material and to use some topic-specific
vocabulary. The quality of the
evidence and understanding of the
topic are sufficient.

5-10 | The answer relies almost exclusively
on the preliminary material. The quality
of evidence and understanding of the
topic are limited.

1-4 The answer includes very little factual
evidence. The quality of the evidence
and understanding of the topic are
poor.

0 There is absolutely nothing of
relevance either to the topic area or to
the question set. A zero score will
automatically result in zero for the
question as a whole.
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Question 4b

Comment est-ce que la vie francaise a été changée par I'Europe? Que pensez-vous de ces
changements?

C= AO4 content from PM R= [ good AO2 point | T = | information about the topic
©= AO4 content not from ® = | justified AO2 point

PM
Rep = | repeated point Irr = | irrelevant/incorrect material + vertical line in margin
A02 | Reaction/response Ampilification

(These marks are awarded based on the
extent to which the candidate answers the
question set)

15- | The answer is clearly focused on the A good range of issues explored plus a clear
18 question and displays a logical and personal conclusion.

coherent personal reaction to the question
which is well justified by clearly stated

opinions.
11- | There is clear evidence of personal Fewer areas explored and a weaker
14 reaction to the question, but this is not conclusion reached.

consistently maintained. There is some
justification, but the consistency of the
opinions is variable.

7-10 | The answer lacks focus and ideas are not | The notion of ‘change’ may be lost in a list of
clearly organised. Some personal reaction | €xamples/issues.

to the question is evident, but justification
is weak.

3-6 | This is a limited personal reaction to the
question, but no justification for points
made.

1-2 | There is virtually no personal reaction to
the question, but there is a little reaction
to the topic.

0 There is no evidence of any personal
reaction/response.

AO3 | Knowledge of Grammar

(These marks are awarded based on the degree to which the candidate uses structures
and grammar as outlined in the specification)

8-9 | The manipulation of most structures is good. There are still some inaccuracies, but these
tend to occur in attempts at more complex structures.

6-7 | The manipulation of basic structures is generally sound. There are attempts to use more
complex structures, often successfully.

4-5 | There is some awareness of structure but basic errors are still frequent. Communication is
generally maintained.

2-3 | The level of manipulation of structures and the number of errors make comprehension
difficult.

0-1 | Shows little or no grasp of grammatical structure. Errors are such that communication is
seriously impaired.
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A04

Content /Knowledge of Society
(These marks are awarded based on
the quality of the evidence that the
candidate uses to support the
argument in AO2)

Ampilification

23-27

The answer is well illustrated with
descriptions which are logically and
coherently developed and do not
depend exclusively on the preliminary
material. Relevant points are clearly
stated and there is definite evidence of
reading around the topic, including
good use of topic-specific vocabulary.
The quality of the evidence and
understanding of the topic are very
good.

17-22

The answer makes a number of points
relevant to specific issues. It shows
some independence from, or clear
manipulation of, the preliminary
material and makes use of topic-
specific vocabulary. The quality of the
evidence and understanding of the
topic are good.

11-16

The answer relies heavily on the
preliminary material, but there is an
attempt made to manipulate this
material and to use some topic-specific
vocabulary. The quality of the
evidence and understanding of the
topic are sufficient.

5-10

The answer relies almost exclusively
on the preliminary material. The quality
of evidence and understanding of the
topic are limited.

1-4

The answer includes very little factual
evidence. The quality of the evidence
and understanding of the topic are
poor.

There is absolutely nothing of
relevance either to the topic area or to
the question set. A zero score will
automatically result in zero for the
question as a whole.

PAC

Open frontiers/travel/French emigration
Introduction of the Euro

International relations
Economic/business issues.
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Question 5a

Quelle est I'importance de la langue et de la culture frangaise dans le monde d’aujourd’hui. A votre avis
est-ce que les Francais ont raison d’avoir peur de 'avenir?

C= AO4 content from PM R= [ good AO2 point | T = | information about the topic
©= AO4 content not from ® = | justified AO2 point

PM
Rep = | repeated point Irr = | irrelevant/incorrect material + vertical line in margin
A02 | Reaction/response Ampilification

(These marks are awarded based on the
extent to which the candidate answers the
question set)

15- | The answer is clearly focused on the Both parts of the question addressed with a
18 question and displays a logical and reasoned personal conclusion.

coherent personal reaction to the question
which is well justified by clearly stated

opinions.
11- | There is clear evidence of personal One part significantly weaker. A generalised
14 reaction to the question, but this is not judgement.

consistently maintained. There is some
justification, but the consistency of the
opinions is variable.

7-10 | The answer lacks focus and ideas are not | Notions of importance/fear not well-
clearly organised. Some personal reaction | addressed.

to the question is evident, but justification
is weak.

3-6 | This is a limited personal reaction to the
question, but no justification for points
made.

1-2 | There is virtually no personal reaction to
the question, but there is a little reaction
to the topic.

0 There is no evidence of any personal
reaction/response.

AO3 | Knowledge of Grammar

(These marks are awarded based on the degree to which the candidate uses structures
and grammar as outlined in the specification)

8-9 | The manipulation of most structures is good. There are still some inaccuracies, but these
tend to occur in attempts at more complex structures.

6-7 | The manipulation of basic structures is generally sound. There are attempts to use more
complex structures, often successfully.

4-5 | There is some awareness of structure but basic errors are still frequent. Communication is
generally maintained.

2-3 | The level of manipulation of structures and the number of errors make comprehension
difficult.

0-1 | Shows little or no grasp of grammatical structure. Errors are such that communication is
seriously impaired.
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A04

Content /Knowledge of Society
(These marks are awarded based on
the quality of the evidence that the
candidate uses to support the
argument in AO2)

Ampilification

23-27

The answer is well illustrated with
descriptions which are logically and
coherently developed and do not
depend exclusively on the preliminary
material. Relevant points are clearly
stated and there is definite evidence of
reading around the topic, including
good use of topic-specific vocabulary.
The quality of the evidence and
understanding of the topic are very
good.

e Economic/political/cultural benefits for poorer
Francophone nations

e The hegemony of English

e Advantages of cultural/linguistic diversity

¢ French initiatives to redress the balance (TV5,
Alliance Francaise).

17-22

The answer makes a number of points
relevant to specific issues. It shows
some independence from, or clear
manipulation of, the preliminary
material and makes use of topic-
specific vocabulary. The quality of the
evidence and understanding of the
topic are good.

11-16

The answer relies heavily on the
preliminary material, but there is an
attempt made to manipulate this
material and to use some topic-specific
vocabulary. The quality of the
evidence and understanding of the
topic are sufficient.

5-10

The answer relies almost exclusively
on the preliminary material. The quality
of evidence and understanding of the
topic are limited.

1-4

The answer includes very little factual
evidence. The quality of the evidence
and understanding of the topic are
poor.

There is absolutely nothing of
relevance either to the topic area or to
the question set. A zero score will
automatically result in zero for the
question as a whole.
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Question 5b

Décrivez le réle de la francophonie dans un pays autre que la France. A votre avis est-ce les avantages

sont plus grands que les inconvénients?

C=

AO4 content from PM R= [good AO2 point | T = | information about the topic

© =

AO4 content not from ® = | justified AO2 point
PM

Rep =

repeated point Irr = | irrelevant/incorrect material + vertical line in margin

A02

Reaction/response Ampilification
(These marks are awarded based on the
extent to which the candidate answers the
question set)

15-
18

The answer is clearly focused on the A range of points made in relation to the
question and displays a logical and chosen country plus a personal appreciation
coherent personal reaction to the question | of their effects.

which is well justified by clearly stated
opinions.

11-
14

There is clear evidence of personal Still focussed but a narrower range of
reaction to the question, but this is not francophone influences addressed.
consistently maintained. There is some
justification, but the consistency of the
opinions is variable.

The answer lacks focus and ideas are not | WWeak judgement on effects in the chosen
clearly organised. Some personal reaction | country.
to the question is evident, but justification
is weak.

3-6

This is a limited personal reaction to the
question, but no justification for points
made.

There is virtually no personal reaction to
the question, but there is a little reaction
to the topic.

There is no evidence of any personal
reaction/response.

AO3

Knowledge of Grammar
(These marks are awarded based on the degree to which the candidate uses structures
and grammar as outlined in the specification)

8-9

The manipulation of most structures is good. There are still some inaccuracies, but these
tend to occur in attempts at more complex structures.

6-7

The manipulation of basic structures is generally sound. There are attempts to use more
complex structures, often successfully.

45

There is some awareness of structure but basic errors are still frequent. Communication is
generally maintained.

2-3

The level of manipulation of structures and the number of errors make comprehension
difficult.

0-1

Shows little or no grasp of grammatical structure. Errors are such that communication is
seriously impaired.
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A04

Content /Knowledge of Society
(These marks are awarded based on
the quality of the evidence that the
candidate uses to support the
argument in AO2)

Ampilification

23-27

The answer is well illustrated with
descriptions which are logically and
coherently developed and do not
depend exclusively on the preliminary
material. Relevant points are clearly
stated and there is definite evidence of
reading around the topic, including
good use of topic-specific vocabulary.
The quality of the evidence and
understanding of the topic are very
good.

Loss of individuality

Economic and political aid/development
Cultural links (TV5)

Educational links and exchanges.

17-22

The answer makes a number of points
relevant to specific issues. It shows
some independence from, or clear
manipulation of, the preliminary
material and makes use of topic-
specific vocabulary. The quality of the
evidence and understanding of the
topic are good.

11-16

The answer relies heavily on the
preliminary material, but there is an
attempt made to manipulate this
material and to use some topic-specific
vocabulary. The quality of the
evidence and understanding of the
topic are sufficient.

5-10

The answer relies almost exclusively
on the preliminary material. The quality
of evidence and understanding of the
topic are limited.

1-4

The answer includes very little factual
evidence. The quality of the evidence
and understanding of the topic are
poor.

There is absolutely nothing of
relevance either to the topic area or to
the question set. A zero score will
automatically result in zero for the
question as a whole.
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